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2. (9 points) Reverse the order of integration and evaluate j
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- 3. (9 points) Which integral represents the area of D between the curves r = 1 and 7 = 2 cos(26)
shown in the figure above?
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(9 points) Find the volume of region bounded by 2z + y + z = 2 and the first octant. 7
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5. (9 points)Which integral gives the area of the surface defined by z = sin(z) cos(y) +4 bounded
by 22 + 12 =17
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6. (9 points) Compute /// zdV where E is the region bounded by z = 5(z2 + 32) — 1,
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7. (9 points) A solid ball of radius 1 centered at the origin has the density /(22 + y2)(z? + y? + 22).
Find the mass of the ball. -_—
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8. (9 points) Evaluate the line integral

/ (v + 2°) ds where
c
C={zx=t, y=cos(2t), z=sin(2t), 0 <t < 27}
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9. (9 points) Evaluate the line integral [, F - dF where

and C is parametrized by 7(t) =
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10. (9 points) Use Green’s theorem to evaluate the line integral l)
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where C is the triangle from (0, 0) to (0,2) to (2,0) and to (0,0). Notice the orientation of the

curve.
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. 11. (10 points) Find a function f(z,y, z) such that
Vi(z,y,2) = F = (2y + 222%)i + (22 + 2y2)] + 2(z%2 + v22)k

and use it to evaluate the line integral / F-d7, where 7(t) = (t+1)i+(2t—1)j+3k, 0 < t < 1.
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